

Republic of the Philippines Department of Justice BUREAU OF CORRECTIONS SAN RAMON PRISON AND PENAL FARM



Brgy. Talisayan, Zamboanga City 7000

SUPPLY AND DELIVERY OF VARIOUS MEDICINES AND MEDICAL EQUIPMENT AND SUPPLIES FOR SRPPF PDL USE CY 2024

SUPPLEMENTAL/ BID BULLETIN NO. 2024-001

This Supplemental/Bid Bulletin is issued to clarify or amend some provisions originally indicated in the Bidding Documents, in compliance with Section 22.5.2 of the Revised Implementing Rules and Regulations of Republic Act 9184 and as clarification during the Pre - Bid Conference dated **22 March 2024**, to wit:

FROM	ТО				
Section III. Bid Data Sheet 14.1 The bid security shall be in the form of a Bid Securing Declaration, or any of the following forms and amounts:	Section III. Bid Data Sheet 14.1 The bid security shall be in the form of a Bid Securing Declaration, or any of the following forms and amounts:				
A. The amount of not less than ₱131,413.72, if bid security is in cash, cashier's/manager's check, bank draft/guarantee or irrevocable letter of credit; or B. The amount of not less than ₱328,534.3 if bid security is in Surety Bond.	LOT ABC 1 ₱6,001,750.00		A. The amount of not less than P120,035.00, if bid security is in cash, cashier's/manager's check, bank draft/guarantee or irrevocable letter of credit; or B. The amount of not less than P300,087.5 if bid security is in Surety Bond. A. The amount of not less than		
	LOT 2	ABC ₱568,936.00	P11,378.72, if bid security is in cash, cashier's/manager's check, bank draft/guarantee or irrevocable letter of credit; or B. The amount of not less than P28,446.8 if bid security is in Surety Bond.		
	LOT 1 AND 2	ABC ₱6,570,686.00	A. The amount of not less than P131,413.72, if bid security is in cash, cashier's/manager's check, bank draft/guarantee or irrevocable letter of credit; or B. The amount of not less than P328,534.3 if bid security is in Surety Bond.		

Section III- Bid Data Sheet 20.2

Additional requirements during the submission and Opening of Bids:

- **1.** Company's License to Operate (LTO) from Food and Drug Administration (FDA)
- **2.** Medicine's Certificate of Product Registration (CPR) from FDA
- **3.** Company's Current Good Manufacturing Practice (CGMP)
- **4.** Certification that the Manufacturer follows the rules and regulations of the FDA pertaining to Adverse Drug Reaction
- **5.** Company's return policy, medicines expiring within six (6) months shall be returned to the supplier
- **6.** Company's Certificate of Exclusive Distributorship for the authorized distributor, **if applicable.**

Section III- Bid Data Sheet 20.2

Requirements during the submission and Opening of Bids:

- **1.** Valid appropriate License to Operate (LTO) from Food and Drug Administration (FDA)
- **2.** Copy of Valid Certificate of Product Registration (CPR) per product from Food and Drug Administration (FDA)
- **3.** Medicines should have at least eighteen (18) months shelf-life upon delivery.

All deliveries below the acceptable remaining shelf life will also be accepted *provided* the supplier will ensure a guaranteed letter stating that 3 months prior to expiration the delivered medicines shall be replaced by a new stock.

4. Food supplements should have at least eight (8) months shelf-life upon delivery.

Section VI. Schedule of Requirements

Item Number	Description	Quantity	Delivered, Weeks/Months
186	SUPPLY AND DELIVERY OF VARIOUS MEDICINES AND MEDICAL EQUIPMENT AND SUPPLIES FOR SRPPF PDL USE CY 2024	2 Lots	Within Sixty (60) Calendar Days Upon receipt of Notice to Proceed

Section VI. Schedule of Requirements

Description	Item Number	Quantity	Delivered, Weeks/Months	
	No.1-106	LOT 1		
SUPPLY AND DELIVERY OF VARIOUS MEDICINES AND	No. 107-186	LOT 2	Within Sixty (60) Calendar Days Upon	
MEDICAL EQUIPMENT AND SUPPLIES FOR SRPPF PDL USE CY 2024	No.1-186	LOT 1 AND 2	receipt of Notice to Proceed	

Section VII. Technical Specifications

Additional Terms and Conditions:

- Company's License to Operate (LTO) from Food and Drug Administration (FDA).
- 2. Medicine's Certificate of Product Registration (CPR) from FDA.
- 3. Company's Current Good Manufacturing Practice (CGMP).

Section VII. Technical Specifications (see attached Annex A)

Additional Terms and Conditions:

- 1. Valid appropriate License to Operate (LTO) from Food and Drug Administration (FDA)
- 2. Copy of Valid Certificate of Product Registration (CPR) per product from Food and Drug Administration (FDA)
- 3. Medicines should have at least eighteen (18) months shelf-life upon delivery.

All deliveries below the acceptable remaining shelf life will also be accepted *provided* the supplier will ensure a guaranteed letter stating that 3 months prior to expiration the delivered medicines shall be replaced by a new stock.

- 4. Certification that the Manufacturer follows the rules and regulations of the FDA pertaining to Adverse Drug Reaction.
- 5. Company's Certificate of Exclusive Distributorship for the authorized distributor, **if applicable.**
- Medicines should have at least eighteen (18) months shelf-life upon delivery.
- 7. Food supplements should have at least eight (8) months shelf-life upon delivery.

4. Food supplements should have at least eight (8) months shelf-life upon delivery.

Section VIII. Checklist of Technical and Financial Documents

TECHNICAL COMPONENT ENVELOPE-Technical Documents

- (e) Conformity with the Technical Specifications, which may include production/delivery schedule, manpower requirements, and/or aftersales/parts, if applicable; **and**
- (e-1) Company's License to Operate(LTO) from Food and Drug Administration (FDA)(e-2) Medicine's Certificate of ProductRegistration (CPR) from FDA

(e-3) Company's Current Good Manufacturing Practice (CGMP)

- (e-4) Certification that the Manufacturer follows the rules and regulations of the FDA pertaining to Adverse Drug Reaction
- (e-5) Company's Certificate of Exclusive Distributorship for the authorized distributor, <u>if</u> <u>applicable</u>.

Schedule of submission and Opening of Bids

04 April 2024 @ 9:00 A.M.

Section VIII. Checklist of Technical and Financial Documents

TECHNICAL COMPONENT ENVELOPE-Technical Documents

- (e) Conformity with the Technical Specifications, which may include production/delivery schedule, manpower requirements, and/or after-sales/parts, if applicable; **and**
- (e-1) Valid appropriate License to Operate (LTO) from Food and Drug Administration (FDA)
- (e-2) Copy of Valid Certificate of Product Registration (CPR) per product from Food and Drug Administration (FDA)
 - (e-3) Medicines should have at least eighteen (18) months shelf-life upon delivery.

All deliveries below the acceptable remaining shelf life will also be accepted *provided* the supplier will ensure a guaranteed letter stating that 3 months prior to expiration the delivered medicines shall be replaced by a new stock.

(e-4) Food supplements should have at least eight (8) months shelf-life upon delivery.

Schedule of submission and Opening of Bids

04 April 2024 @ 1:00 P.M.

This shall form an integral part of the bidding documents. Any provisions in the Bidding Documents inconsistent herewith is hereby cancelled, modified and superseded accordingly. For guidance and information of all concerned.

Issued on 25 March 2024.

Approved for issuance and posting.

C/TSUPT ELMER A DERLA

End-User

CASHISP NONIE C FORRO
Chairperson, Bids and Award Committee
SRPPF, BuCor

Technical Specifications

Item	Specification	Statement of Compliance
		[Bidders must state here either "Comply" or "Not Comply" against each of the individual parameters of each Specification stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in a Bidders Bid and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature, unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data etc., as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidder's statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the applicable laws and issuances.]

Stock/ Property No.	Unit	Item Description	Quantity	Unit Cost	Total Cost	Statement of Compliance
		Lot 1				
1	capsule	Alpha Lipoic acid 50mg, Lutein 8% 5mg, Lycopene 10% 2,000mcg, Chromium Picolinate 200mcg, Selenium Dioxide 45mcg	3,000	19.25	57,750.00	
2	tablet	Acetylcysteine 600mg effervescent tablet	1,000	38.00	38,000.00	
3	tablet	Aciclovir 200mg	1,000	30.40	30,400.00	
4	tablet	Allopurinol 300mg	1,000	11.50	11,500.00	
5	tablet	Aluminum hydroxide + Magnesium Hydroxide+Simethicone 178mg/233mg/30mg	2,000	13.50	27,000.00	
6	tablet	Amlodipine 10mg	5000	15.50	77,500.00	
7	tablet	Amlodipine 5mg	3000	8.50	25,500.00	
8	tablet	Amlodipine 5mg + Losartan 50mg	2000	50.00	100,000.00	
9	capsule	Amoxicillin 500mg	4,000	6.00	24,000.00	

10	vial	Ampicillin + Sulbactam 1g/500mg IV powder for injection	100	875.00	87,500.00	
11	capsule	Ascorbic Acid + Zinc 500mg	5,000	8.50	42,500.00	
12	tablet	Atorvastatin 40mg	2000	30.85	61,700.00	
13	ampule	ATS Anti Tetanus 1500 iu	200	194.91	38,982.00	
14	tablet	Azithromycin 500mg	800	120.00	96,000.00	
15	tablet	Betahistine 16mg	1500	61.00	91,500.00	
16	tube	Betamethasone	100	520.00	52,000.00	
17	suppository	Bisacodyl 10mg	100	79.50	7,950.00	
18	tablet	Blumea Balsamifera, Sambong 500mg	2000	11.75	23,500.00	
19	tablet	Butamirate 50mg	500	33.00	16,500.00	
20	pieces	Calamine + Zinc Oxide	250	72.00	18,000.00	
21	tablet	Captopril 25mg	1000	8.00	8,000.00	
22	tablet	Carbamazepine 200mg	4,000	7.00	28,000.00	
23	capsule	Carbocisteine 500mg	5000	7.25	36,250.00	
24	tablet	Carvedilol 6.25mg	400	15.00	6,000.00	
25	capsule	Cefalexin 500mg	2000	9.00	18,000.00	
26	vial	Ceftriaxone 1g powder for injection	300	625.00	187,500.00	
27	vial	Cefuroxime 750mg powder for injection	300	320.00	96,000.00	
28	capsule	Celecoxib 200mg	2500	36.00	90,000.00	
29	tablet	Cetirizine 10mg	5,000	27.00	135,000.00	
30	tablet	Chlorphenamine Maleate 4mg	2000	5.63	11,260.00	
31	tablet	Ciprofloxacin 500mg	2000	19.00	38,000.00	
32	tablet	Citicoline 500mg	300	88.50	26,550.00	
33	capsule	Clindamycin 300mg	1000	38.00	38,000.00	
34	tablet	Clonidine hydrochloride 150mcg	200	30.00	6,000.00	
35	tablet	Clopidogrel 75mg	1000	18.50	18,500.00	
36	tube	Clotrimazole 10mg/g Cream	50	892.00	44,600.00	
37	capsule	Cloxacilin 500mg	1000	11.00	11,000.00	
38	tablet	Co-Amoxiclav 625mg	2000	45.00	90,000.00	
39	tablet	Colchicine 500mcg	3,000	4.10	12,300.00	
40	cans	Active Adult Nutritional Powder Drink	150	2,356.00	353,400.00	
41	bottle	Dextrose 5% + Lactated Ringers, 1L	400	120.00	48,000.00	
42	bottle	Dextrose 5% + Sodium Chloride 0.9%/1L	400	120.00	48,000.00	
43	vial	Dextrose 50%,50 ml solution for injection	100	120.00	12,000.00	
44	bottle	Dextrose Balanced Multiple Maintenance Solution,1L with 5% Dextrose	400	120.00	48,000.00	
45	tablet	Diosmin 450mg + Hesperidin 50mg	600	160.15	96,090.00	
46	capsule	Diphenhydramine 50mg	1,500	5.90	8,850.00	
47	ampule	Diphenhydramine 50mg/mL, 1mL solution for injection	50	98.00	4,900.00	

48	ampule	Dopamine 40mg/ml, 5ml	50	234.50	11,725.00	
49	tablet	Furosemide 40mg	1000	5.49	5,490.00	
50	capsule	Gabapentin 300mg	500	61.20	30,600.00	
51	tablet	Gliclazide 60mg	1,000	53.27	53,270.00	
52	bottle	Glucose + Amino Acid + Electrolytes + Vitamin B1 solution infusion	100	1,571.00	157,100.00	
53	vial	Hydrocortisone 100mg powder for injection	1,000	120.00	120,000.00	
54	vial	Hydrocortisone 250mg powder for injection	1,000	165.00	165,000.00	
55	tablet	Hyoscine N-Butylbromide 10mg	1000	13.25	13,250.00	
56	tablet	Isosorbide Dinitrate 5mg	150	12.50	1,875.00	
57	tablet	Isosorbide Mononitrate 60mg	300	11.00	3,300.00	
58	tablet	Ketoanalogues + Essential Amino Acids	800	36.00	28,800.00	
59	tube	Ketoconazole	70	365.00	25,550.00	
60	ampule	Ketorolac 30mg/ml solution for injection	100	145.00	14,500.00	
61	capsule	Loperamide 2mg	2000	8.00	16,000.00	
62	tablet	Loratadine 10mg	1000	14.50	14,500.00	
63	tablet	Losartan 100mg	3000	10.00	30,000.00	
64	tablet	Losartan 50mg	5,000	13.50	67,500.00	
65	capsule	Mefenamic Acid 500mg	5,000	12.00	60,000.00	
66	tablet	Metformin HCI 500mg	5000	8.00	40,000.00	
67	tablet	Methimazole 20mg	300	22.00	6,600.00	
68	ampule	Metoclopramide 5mg/mL 2ml solution for injection	100	144.00	14,400.00	
69	tablet	Metoprolol 50mg	2000	7.50	15,000.00	
70	pieces	Metronidazole 500mg	3,000	20.00	60,000.00	
71	vial	Metronidazole 5mg/mL (500mg/100mL)	100	196.43	19,643.00	
72	tablet	Montelukast + Levocetirizine 10mg/5mg	1,000	46.00	46,000.00	
73	tube	Mupirocin 2%	200	320.00	64,000.00	
74	tablet	Naproxen 500mg	2500	13.83	34,575.00	
75	tablet	Olanzapine 10mg	1500	88.84	133,260.00	
76	capsule	Omeprazole 40mg	3,000	87.30	261,900.00	
77	vial	Omeprazole 40mg powder for injection vial	200	335.00	67,000.00	
78	sachet	Oral Rehydration Solution 5.125 powder for Oral Solution	2,000	16.50	33,000.00	
79	tablet	Paracetamol + Tramadol 325mg/37.5mg	2000	38.00	76,000.00	
80	ampule	Paracetamol 150mg/mL, 2mL	100	26.00	2,600.00	
81	tablet	Paracetamol 500mg	10,000	9.00	90,000.00	
82	bottle	Permethrin 5%, Lotion	50	410.00	20,500.00	

83	tablet	Phenylpropanolamine HCl 25mg + Chlorphenamine Maleate 2mg + Paracetemol 325mg	2000	11.00	22,000.00	
84	tablet	Potassium Chloride 600mg	2000	15.00	30,000.00	
85	tablet	Prednisone 10mg	2,500	5.00	12,500.00	
86	capsule	Pregabalin 75mg	1,000	42.00	42,000.00	
87	tablet	Propranolol 40mg	2000	25.00	50,000.00	
88	tablet	Ranitidine 300mg	2000	7.84	15,680.00	
89	tablet	Risperidone 2mg	800	60.00	48,000.00	
90	tablet	Rosuvastatin 20mg	2,000	49.00	98,000.00	
91	amp/neb	Salbutamol 1mg/ml, 2.5ml	5000	90.00	450,000.00	
92	tablet	Salbutamol 2mg	5000	6.50	32,500.00	
93	tablet	Simvastatin 40mg	2000	9.50	19,000.00	
94	tablet	Spironolactone 25mg	1,200	80.00	96,000.00	
95	tube	Sulfur Ointment	100	110.00	11,000.00	
96	bar	Sulfur Soap	1,000	88.50	88,500.00	
97	tablet	Tamsulosin 200mcg	300	44.00	13,200.00	
98	capsule	Tramadol 50mg	1000	18.00	18,000.00	
99	ampule	Tramadol 50mg/ml, 2ml	100	95.00	9,500.00	
100	ampule	Tranexamic Acid 100mg/mL / 5ml Solution for Injection	100	321.00	32,100.00	
101	tablet	Trimetazidine 35mg	3000	42.00	126,000.00	
102	tablet	Vitamin B Complex	10,000	33.25	332,500.00	
103	ampule	Vitamin B Complex	200	157.00	31,400.00	
104	capsule	Vitamins + Iron	2500	13.50	33,750.00	
105	capsule	Vitamins and Minerals, Chlorella Growth Factor 250mg, L-Lysine 50mg, Taurine 50mg, Zinc Sulphate (eq. to 6.57mg elemental zinc) 18mg, Vit. A (as acetate) 550mcg, Vit. E 12mg, Vit. D3 5mcg, Vit. B1 1.2mg, Vit. B2 1.3mg, Vit. B6 1.3mg, Vit. B12 2.4mcg, Niacinamide 16mg, Folid Acid 400mcg, Ferrous Sulphate (eq. to elemental iron) 60mg, Sodium Ascorbate (eq. to 75.56mg Vit. C) 85mg	6,000	19.75	118,500.00	
106	tablet	Vitex Negundo (Lagundi) 600mg	1500	13.80	20,700.00	
			TOTAL		6,001,750.00	

Stock/ Property No.	Unit	Item Description	Quantity	Unit Cost	Total Cost	Statement of Compliance
		LOT 2				
107	Roll	Absorbent Gauze 36" x 100 yards	2	680.00	1,360.00	
108	Unit	Ambulance Collapsible Stretcher	1	23,000.00	23,000.00	
109	Set	Aneroid Sphygmomanometer (Arm Manual)	15	2,000.00	30,000.00	
110	Set	Aneroid Sphygmomanometer (Desk Type)	12	1,500.00	18,000.00	
111	Set	Bag Valve Mask (Adult)	2	2,500.00	5,000.00	

112	Piece	Bandage Scissors 7" Stainless Steel	2	245.00	490.00	
113	Piece	Blade Handle #3	2	110.00	220.00	
114	Piece	Blade Handle #4	2	110.00	220.00	
115	Box	Blood Lancet, 200s	4	200.00	800.00	
116	Piece	Cadaver Bag	50	350.00	17,500.00	
117	Вох	Chromic Catgut 2/0 (3.5 metric), ½ circle round bodied 40mm	2	350.00	700.00	
118	Вох	Chromic Catgut Absorbable suture 3/0 (3 metric), ½ circle curved cutting 40mm	2	350.00	700.00	
119	Pack	Cotton Balls, 300s	25	124.00	3,100.00	
120	Box	Cover Slip	2	60.00	120.00	
121	Unit	Crutches	10	1,370.00	13,700.00	
122	Unit	Digital Thermometer	10	150.00	1,500.00	
123	Box	Disposable Face Mask, 50s	250	65.00	16,250.00	
124	Вох	Disposable Syringe 1cc (Tuberculin), 100s	10	350.00	3,500.00	
125	Box	Drug Test Kit (Meth/THC)	50	2,100.00	105,000.00	
126	Piece	Elastic Bandage 4"	10	35.00	350.00	
127	Unit	Emergency Cart / Trolley with Cardiac Board (plastic)	1	30,000.00	30,000.00	
128	Box	Foley Catheter balloon 2-way fr16, 10s	1	350.00	350.00	
129	Box	Foley Catheter balloon 2-way fr18, 10s	1	344.00	344.00	
130	Box	Glass Slides	2	60.00	120.00	
131	Unit	Glucometer	1	3,350.00	3,350.00	
132	Вох	Glucose Strips 50s (compatible with the brand of the glucometer)	25	550.00	13,750.00	
133	Box	HBsAg Test Kit	30	2,100.00	63,000.00	
134	Bottle	Hydrogen Peroxide 3%, 1L	5	107.00	535.00	
135	Piece	Instrument Tray with Cover, 8x12x2.5"	2	1,350.00	2,700.00	
136	Box	Insulin Syringe 0.5cc. G29 x 100s	5	900.00	4,500.00	
137	Box	Insulin Syringe 1cc. G29 x 100s	5	900.00	4,500.00	
138	Piece	Iris Scissors (curved)	2	200.00	400.00	
139	Piece	Iris Scissors (straight)	2	200.00	400.00	
140	Gallon	Isopropyl Alcohol 70% (3.7L)	30	550.00	16,500.00	
141	Set	IV Stand, 4 hook stainless	3	4,500.00	13,500.00	
142	Piece	Kelly Scissors (curved)	2	400.00	800.00	
143	Piece	Kelly Scissors (straight)	2	400.00	800.00	
144	Piece	Kidney Basin stainless, 10"	2	350.00	700.00	
145	Piece	Kidney Basin stainless, 12"	1	500.00	500.00	
146	Box	Latex Disposable Gloves (L)	25	407.00	10,175.00	
147	Box	Latex Disposable Gloves (M)	25	407.00	10,175.00	
148	Box	Leukoplast 5cmx5m	20	398.00	7,960.00	
149	Piece	Macroset/IV Infusion Set	100	85.00	8,500.00	
150	Piece	Mayo Scissors (curved), 7"	2	400.00	800.00	
151	Piece	Mayo Scissors (straight), 7"	2	400.00	800.00	
152	Piece	Mosquito Forceps (curved), 7"	2	380.00	760.00	
153	Piece	Mosquito Forceps (straight), 7"	2	380.00	760.00	
154	Piece	Nasogastric Tube Silicone Fr.14	6	240.00	1,440.00	

155	Piece	Nasogastric Tube Silicone Fr.16	6	280.00	1,680.00	
156	Piece	Nebulizing Kit	100	75.00	7,500.00	
157	Piece	Needle Holder, 7"	2	450.00	900.00	
158	Box	Nitrile Working Gloves (L)	10	550.00	5,500.00	
159	Piece	Oxygen Cannula	25	45.00	1,125.00	
160	Piece	Oxygen Mask	25	85.00	2,125.00	
161	Set	Oxygen Regulator	5	1,800.00	9,000.00	
162	Tank	Oxygen Tank 20lbs	3	6,000.00	18,000.00	
163	Piece	Penlight / Otoscope	2	750.00	1,500.00	
164	Gallon	Povidone Iodine 10% Solution	5	577.40	2,887.00	
165	Unit	Pulse Oximeter	5	850.00	4,250.00	
166	Piece	Rectangular Basin stainless	1	400.00	400.00	
167	Tray	Red Top Tube, 100s	3	550.00	1,650.00	
168	Piece	Retractable Torniquet	5	120.00	600.00	
169	Piece	Round Basin stainless	2	250.00	500.00	
170	Piece	Soluset / Volumetric Set	20	225.00	4,500.00	
171	Box	Sterile Gauze Pad 4"x4x100s (individual pack)	15	250.00	3,750.00	
172	Gallon	Sterilizing Disinfecting Solution (Activated Glutaraldehyde Solution with Liquid Activator)	3	1,300.00	3,900.00	
173	Unit	Stethoscope	5	2,300.00	11,500.00	
174	Piece	Surgical Scissors (Curved), 8"	2	500.00	1,000.00	
175	Piece	Surgical Scissors (Straight), 8"	2	500.00	1,000.00	
176	Piece	Suture / Stitch Scissors	2	300.00	600.00	
177	Piece	Tablet/Pill Counter	1	360.00	360.00	
178	Piece	Test Tube Rack	1	350.00	350.00	
179	Piece	Test Tube, 10mL	15	60.00	900.00	
180	Piece	Thumb Forceps, 8"	2	450.00	900.00	
181	Piece	Tissue Forceps, 8"	2	350.00	700.00	
182	Piece	Triangular Bandage	10	50.00	500.00	
183	Piece	Urine Bag	200	28.00	5,600.00	
184	Tube	Urine Reagent Strips (standard), 100s	3	720.00	2,160.00	
185	Tray	Violet Top Tube, 100s	3	630.00	1,890.00	
186	Unit	Wheel Chair	5	6,416.00	32,080.00	
		TOTAL 568,936.00				
		GRAND TOTAL: 6,570,686.00				

Additional Terms and Conditions:	Statement of Compliance
Valid appropriate License to Operate (LTO) from Food and Drug Administration (FDA)	
Copy of Valid Certificate of Product Registration (CPR) per product from Food and Drug Administration (FDA)	

Medicines should have at least eighteen (18) months shelf- life upon delivery.	
All deliveries below the acceptable remaining shelf life will also be accepted <i>provided</i> the supplier will ensure a guaranteed letter stating that 3 months prior to expiration the delivered medicines shall be replaced by a new stock.	
 Food supplements should have at least eight (8) months shelf-life upon delivery. 	

·	_	
Name of Company/Bidder		
	_	
Name and Signature of Bidder's Authorized Repre	sentative/ Date	

This shall form an integral part of the bidding documents. Any provisions in the Bidding Documents inconsistent herewith is hereby cancelled, modified and superseded accordingly.

For guidance and information of all concerned.

Issued on 25 March 2024.

Approved for issuance and posting.

C/TSUPT ELMER A DERLA End-User CISINSP NONIE C FORRO
Chairperson, Bids and Award Committee
SRPPF, BuCor